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Modified NIST dataset
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MNIST for ML beginners

## MNIST GO|EAl ¥EE
from tensorflow.examples.tutorials.mnist import input_data

## O[O[EHAl = 3! 2|0|F el X[H
mnist = input_data.read_data_sets(“MNIST _data/"“, one_hot=True)

## HIMEER MM LHYIAM Eg0]d H|O|E HiX| =22{L7
for _ in range(1000):
batch_xs, batch_ys = mnist.train.next_batch(100)

EX: https://www.tensorflow.org/get_started/mnist/beginners
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MNIST

n_units

n_out

Input
MNIST image
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MNIST Reality

B average TEST ERROR RATE (%)
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MNIST: A z{2|= LH7} CloliE =

from tensorflow.examples.tutorials.mnist import input_data
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= data preprocessing
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SVM, RF, KNN

50| CifS2~0|5tCHH KNN2F 20| AFE O] . 2| Ofsh

of
=




S/ A A GH2

EHX| 7| 7} JIZFETA ZAE T debugging
sample Show|10 ¥ |entries Search:
- accountNo characterld s HA Y4 =Y H|2
M Al & A EHE
Xt7] A2 818HH(0-1) ! ? ’ 100
0.3 2 2 2 100
| sample
3 2 2 100
URtY 2YRH T : : : 100
S 2F H| 2 5}5H4(0-100) Showing 1to 4 of 4 entries Previous 1 } Next
sample
30 -
;'
24A|7F = DT H|£2(0-100) 2 L- o .
idx
30 sample
o R-
gu
— c L=
7|7Lftaﬁ%%k%x1lﬂ»g ) 10 200 y 300 400 10
1ax
AM7|7t = 2 XY H|£(0-100) sample
o R-
80 E'
Z L
) U ZUU 300 400 SUU
idx



THIe| =4|: IIAE T2 EEO|T

CHA|EE / 0|0 Y2
HH2 AL A} I S

Dash

Shiny
by RStudio sparklyr
s




SOLUTION

f

e
]
o

of LHA|2£= & A}
> SAH =28 A

|.

{ITs



A0
SoA

- | —
=

[

)
Y SO JNE oA

O3 ST = A

MH|A

ASAHIA}
A[2E

01 Bt
CHA|EE



U

O
ol



AlY AEI=0} B O] A
A7t A2l = 35

217t FAE| AL
1 A7 U= 8%




|

. =9

A=

LIS
-




SOIM Z0r7t= Eel's Al

“Move to Beacof " Collect Minerals and
Gas

a

.'

r N
N f

~Collect Mineral® -Build Marines
Shards




+erLIC @ NEXON

#Et%.‘o_ A2 #alo|E_ZHS | #2A Qlma)

— . G

Cl|O1E1=45 7} / G| O] E{AA|L{ O



Al
—

=0kl Al




